
1. If F is function such that F (O) = 2, F (1) = 3,
F (x + 2) = 2F (x) -F (x + 1) for x � 0, then
F (5) is equal to
(a) - 7 (b) - 3

(c) 17 (d) 13
2. Let S be a set containing n elements. Then,

number of binary operations on S is
(a) n" (b) 2

° 

(c) n"2 

(d) n 2 

3. The numerically greatest term in the
expansion of (3 - 5x)11 when x = 2., is

5 

(a) 55 X 39 (b) 55 X 36

(C) 45 X 39 (OJ 45 X 36 

4. The number of solutions of the equation
sin (ex ) =5x + 5-x, is
(a) 0
(c) 2

(b) 1

(d) infinitely many
5. If ax = bY = c= = du and a, b, c, d are in GP,

then x, y, z, u are in
(a) AP
(cJ HP

(b) GP
(d) None of these

6. If z satisfies the equation I z I - z = 1 + 2i, then
z is equal to
(a) �+2i

2 

(c) 2-� i
2 

(b) 3 n
, 
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(d) 2 + � i
2 








